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do
{
v3i = al[v2];
if (w3 »>= 97 && v <= 122 )
{
vd = (v3 - 84) % 26 + 97;
ABEL_13:
al[v2] = v4;
goto LABEL 14;
¥
if (v3 >= 65 && v <= 98 )
{

vd = (v3 - 52) % 26 + 65;
goto LABEL 13;
¥
if (v »>= 48 && v <= 57 )
{
vd = (v3 - 35) % 10 + 48;
goto LABEL 13;
¥
ABEL_14:
++v2;
¥
while ( v2Z < 28 );
vh = &v8;
do
{
if ( *us 1= *yl )
goto LABEL_24;
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vi = 8;

do

{
#(int #)((char )& 12 + v2) = #(&v15 + v3) | ((F(&v16 + v2) | ((F(&v17 + v2) | (v18[v3] << 8)) << 8)) << 8);
v += 4;

while ( v3 < 44 );
vd = 8;
v5 = &unk_1E20D8;
while ( 1)
{
ve = @;
v/ = 8;
v = 8;
do
{
v6 += *(&v13 + v8) * (unsigned _ int8)byte 1E2108[v4 + vi];
vl = v14[v8] * (unsigned _ int8)byte_ 1E2109[v4 + vE&];
vE += 2;
v7 += v9;

while ( v8 < 10 );
vie = v8 »>= 11 ? @ : *(&v13 + v8) * (unsigned _ int8)byte 1E2108[v4 + vE];
if ( v10 + v7 + vE I= *y5 )
break;
++v5;
vd += 11;
if ( (signed int)v5 »>= (signed int)&unk_1E2104 )
goto LABEL_15;
}
}
sub_1E1198(aSorryTryAgain, v12);
LABEL_15:
dword_1E205C(@);
return @;
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from z3 import
i ( >
def readdword(arr,index):
return (arr[index]) | (arr[index+1]<<8) | (arr[index+2]<<16) | (arr[index+3]
writedword(arr,start,data):
arr[start]=data&exff
arr[start+l]=(data>>8)&0xff
arr[start+2]=(data>>16)&0xff
arr[start+3]=(data>>24)&0xff
readfilebyte(o):
f.seek(o)
return .from_bytes(f.read(1),byteorder
readfiledword(o):
f.seek(o)
.from_bytes(f.read(1),byteorder
.from_bytes(f.read(1),byteorder
.from_bytes(f.read(1),byteorder
.from_bytes(f.read(1),byteorder
return a|(b<<8)|(c<<16) | (d<<24)
offset=0x1e0000
v5=0x1e20d8
solver Solver()
[BitVec( i,32) for i in
(44):
solver.add(flag[i]>=32)
solver.add(flag[i]<=127)

v6=0
v7=0
v8=0
while True:
v6+=readdword(flag,v8*4)*readfilebyte(0x1e2108-offset+v4+v8)
v9=readdword(flag,v8*4+4)*readfilebyte(0x1e2109-offset+v4+v8)
v8+=2
V7+=Vv9
if v8>=10:
break
vl0=readdword(flag,v8*4)*readfilebyte(0x1e2108-offset+v4+v8)
solver.add(v10+v7+v6==readfiledword(v5-offset))
v5+=4
v4+=11
if v5>=0x1e2104:
break
if solver.check() sat:
m solver.model()
s =[]
for i in (44):
s.append(m[flag[i]].as_long())
print( (s))
f.close()
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